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Instructions 
· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· Answer all questions. 

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be used.

· If your calculator does not have a π button, take the value of π to be 
3.142 unless the question instructs otherwise.

Information

· The total mark for this paper is 101 

· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

· Questions labelled with an asterisk (*) are ones where the quality of your 
written communication will be assessed.

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

Suggested Grade Boundaries (for guidance only)

	A*
	A
	B
	C
	D

	88
	71
	52
	32
	17


GCSE Mathematics 1MA0

Formulae: Higher Tier

You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.

Volume of prism = area of cross section × length
Area of trapezium = 
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(a + b)h
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Volume of sphere 
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πr3 
Volume of cone 
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πr2h

Surface area of sphere = 4πr2 
Curved surface area of cone = πrl
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In any triangle ABC 
The Quadratic Equation



The solutions of ax2+ bx + c = 0



where a ≠ 0, are given by



x = 
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Sine Rule  
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Cosine Rule  a2 = b2+ c2– 2bc cos A

Area of triangle = 
[image: image11.wmf]1
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ab sin C

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.
1. 
(a) 
Use your calculator to work out
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Write down all the figures on your calculator display.

.....................................

(2)

(b) 
Write down your answer to part (a) correct to 2 decimal places.

.....................................

(1)

(Total 3 marks)
___________________________________________________________________________

*2.
Here is a list of ingredients for making 18 mince pies.
	Ingredients for 18 mince pies


225
g of butter


350
g of flour


100
g of sugar


280
g of mincemeat


1
egg


Elaine wants to make 45 mince pies.

Elaine has


1
kg of butter


1
kg of flour


500
g of sugar


600
g of mincemeat


6
eggs

Does Elaine have enough of each ingredient to make 45 mince pies?

You must show clearly how you got your answer.
(Total 4 marks)

___________________________________________________________________________

3. 
The scatter graph shows some information about 10 cars, of the same type and make.
The graph shows the age (years) and the value (£) of each car.

[image: image13.emf]
The table shows the age and the value of two other cars of the same type and make.

	age (years)
	1
	3.5

	value (£)
	8200
	5000


(a)
On the scatter graph, plot the information from the table.
(1)

(b)
Describe the relationship between the age and the value of the cars.
......................................................................................................................................................

......................................................................................................................................................

(1)

A car of the same type and make is 2
[image: image14.wmf]1

2

 years old.

(c)
Estimate the value of the car.
£..........................................

(2)

(Total 4 marks)

___________________________________________________________________________

4. 
The table gives some information about the birds Paula sees in her garden one day.

	Bird
	Frequency

	Magpie
	15

	Thrush
	10

	Starling
	20

	Sparrow
	27


Complete the accurate pie chart.

[image: image15.emf]
(Total 3 marks)

___________________________________________________________________________

5.

[image: image16.emf]
(a)
Reflect the shaded shape in the line y = x.

(2)

[image: image17.emf] 
(b) 
On the grid, enlarge the shaded shape by a scale factor of 3, centre O.

(3) 

(Total 5 marks)

___________________________________________________________________________

6. There are 130 adults at a language school.
Each adult studies one of French or Spanish or German.

96 of the adults are women.

12 of the women study French.

73 of the adults study Spanish.

55 of the women study Spanish.

9 of the men study German.

How many of the adults study French?

..........................................

(Total 4 marks)

___________________________________________________________________________

7. Peter goes for a walk.
He walks 15 miles in 6 hours.

(a) 
Work out Peter’s average speed.

     
Give your answer in miles per hour.
.......................................... mph

(2)

5 miles = 8 km.

Sunita says that Peter walked more than 20 km.

*(b) 
Is Sunita right?

     
You must show all your working.
(2)

(Total 4 marks)

___________________________________________________________________________

8. 
The diagram shows the plan of a playground.
[image: image18.emf]
Bill is going to cover the playground with tarmac.

It costs £2.56 to cover each square metre with tarmac.

Work out the total cost of the tarmac Bill needs.
£..........................................

(Total 4 marks)
___________________________________________________________________________

9.
The diagram shows a pattern using four identical rhombuses.

[image: image19.emf]
Work out the size of the angle marked a.

You must show your working.

..........................................°

(Total 4 marks)

___________________________________________________________________________

10.
(a)
Simplify
(p3)2
..........................................

(1)

(b)
Simplify

[image: image20.wmf]8
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t

t


..........................................

(1)

23 × 2n = 29
(c)
Work out the value of n.
..........................................

(1)

2x3 = 128

(d)
Work out the value of x.

..........................................

(1)

(Total 4 marks)

___________________________________________________________________________

11. 
The equation




x3 – 6x = 72

has a solution between 4 and 5

Use a trial and improvement method to find this solution.

Give your answer correct to one decimal place.

You must show all your working.

x = ..............................................

(Total 4 marks)

___________________________________________________________________________
12. 
–3 < n ≤ 1

n is an integer.

(a) 
Write down all the possible values of n.

..........................................

(2)

(b) 
Solve the inequality
3p – 7 > 11
..........................................

(2)

(Total 4 marks)

___________________________________________________________________________

13. 
The diagram shows a solid triangular prism.
[image: image21.emf]
The prism is made from metal.

The density of the metal is 6.6 grams per cm3.

Calculate the mass of the prism.
.............................................. grams

(Total 3 marks)

___________________________________________________________________________

14. 
The table gives information about the number of CDs sold in a shop during each of the last 30 weeks.

	Number of CDs (n)
	Frequency
	
	

	          0 < n ≤ 40
	3
	
	

	        40 < n ≤ 80
	5
	
	

	80 < n ≤ 120
	12
	
	

	      120 < n ≤ 160
	7
	
	

	      160 < n ≤ 200
	3
	
	


Calculate an estimate for the mean number of CDs sold each week.

Give your answer correct to 1 decimal place.

  .....................................

(Total 4 marks) 
___________________________________________________________________________

15. 
A garage sells used cars.

The table shows the number of used cars it sold from July to December.

	July
	August
	September
	October
	November
	December

	28
	25
	34
	46
	28
	40


(a)
Work out the 3-point moving averages for the information in the table.


The first two have been worked out for you.








           29   
         35  
....................... ................... ................... ...................

(2)

(b) 
Comment on the trend shown by the 3-point moving averages.


...............................................................................................................................................

...............................................................................................................................................
 (1)

(Total 3 marks)
___________________________________________________________________________

16.
[image: image22.emf]
LMN is a right-angled triangle.

MN = 9.6 cm.

LM = 6.4 cm.

Calculate the size of the angle marked x(.

Give your answer correct to 1 decimal place.

..............................................................(
(Total 3 marks)

___________________________________________________________________________
17. 
Liam invests £6200 for 3 years in a savings account.

He gets 2.5% per annum compound interest.

How much money will Liam have in his savings account at the end of 3 years?
£ ..............................................................

(Total 3 marks)

___________________________________________________________________________

18. 
The table shows some information about the heights (h cm) of 100 students.

	Height (h cm)
	Frequency
	
	

	120 ( h < 130
	8
	
	

	130 ( h < 140
	16
	
	

	140 ( h < 150
	25
	
	

	150 ( h < 160
	30
	
	

	160 ( h < 170
	21
	
	


(a) 
Find the class interval in which the median lies.

...............................................

(1)

(b)
Work out an estimate for the mean height of the students.

......................................... cm

(4)

(Total 5 marks)

___________________________________________________________________________

19. 
(a) 
Expand and simplify (x – 3)(x + 5)

................................................

(2)

(b) 
Solve  
[image: image23.wmf]4

29
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 = (x + 5)
x = ................................

(3)

(Total 5 marks)

___________________________________________________________________________

20. 
The table gives information about the cost of the gas used by a family.

[image: image24.emf]
(a) 
Work out the four-point moving averages for this information.


The first three have been worked out for you.

                                  



           £83             £86            £88        £

…………   …………   …………   …………

(2)

(b) 
Use the moving averages to describe the trend.

.......................................................................................................................................

(1)

(Total 3 marks)

___________________________________________________________________________

21. 
The table shows information about the lengths of time, t minutes, it took some students to do their maths homework last week.
	Time (t minutes)
	Frequency

	  0 < t ( 10
	4

	10 < t ( 15
	8

	15 < t ( 20
	24

	20 < t ( 30
	16

	30 < t ( 50
	5


Draw a histogram for this information.

[image: image25.emf]
(Total 3 marks)
___________________________________________________________________________

22. 
(a) 
Simplify 
p5 × p4
.....................................

(1)

(b) 
Simplify 
q5 ÷ q2
.....................................

(1)

(c) 
Simplify 
12tu6 ÷ 6tu5
.....................................

(2)
(d) 
Simplify  

[image: image26.wmf]2
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.....................................

(2)
(e) 
For x > 1, write the following expressions in order of size.


Start with the expression with the least value.




x0 

x2 

x

x−2


[image: image27.wmf]2
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x


..........................................................................................

(2)

 (Total 8 marks)
___________________________________________________________________________

23. 
(a) 
Max wants to take a random sample of students from his year group.

(i)
Explain what is meant by a random sample.


..........................................................................................................................................




..........................................................................................................................................

.......................................................................................................................................... 

(ii) Describe a method Max could use to take his random sample.


..........................................................................................................................................




..........................................................................................................................................


.......................................................................................................................................... 
 (2)

(b) 
The table below shows the numbers of students in 5 year groups at a school.

	Year
	Number of students

	9
	239

	10
	257

	11
	248

	12
	190

	13
	206


Lisa takes a stratified sample of 100 students by year group.

Work out the number of students from Year 9 she has in her sample.

..............................................

(2)

(Total 4 marks)

___________________________________________________________________________

24. 
The table gives information about the heights, h metres, of trees in a wood.

	Height (h metres)
	Frequency

	0 < h ( 2
	7

	2 < h ( 4
	14

	4 < h ( 8
	18

	  8 < h ( 16
	24

	16 < h ( 20
	10


Draw a histogram to show this information.
[image: image28.emf]
(Total 3 marks)
___________________________________________________________________________

25. 
Steve measured the length and the width of a rectangle.

He measured the length to be 645 mm correct to the nearest 5 mm.

He measured the width to be 400 mm correct to the nearest 5 mm.

Calculate the lower bound for the area of this rectangle.

Give your answer correct to 3 significant figures.

............................ mm2
 (Total 3 marks)
___________________________________________________________________________

26.
[image: image29.emf]
OAB is a triangle.

[image: image30.wmf]OA

 = a


[image: image31.wmf]OB

 = b

(a) 
Find 
[image: image32.wmf]AB

 in terms of a and b.

..............................................

(1)

P is the point on AB such that AP : PB = 3 : 1

(b)
Find 
[image: image33.wmf]OP

 in terms of a and b.


Give your answer in its simplest form.

..............................................

(3)

(Total 4 marks)
___________________________________________________________________________

(TOTAL FOR PAPER: 101 MARKS)
	1
	(a)
	4.636809….. ÷ 3.44
	1.3479(09665…)
	2
	M1 for 4.63(6809….. )or 3.44 seen or 
[image: image34.wmf]25

86


A1 for 1.3479(09665…) 



	
	(b)
	
	1.35
	1
	B1 ft for 1.35




	*2


	
	
	Not enough mincemeat since 600<700


	4


	M1 for 45 ÷ 18 (= 2.5)

M1 for 2.5 used as factor or divisor 

A1 for ingredients as 562.5 and 875 and  250 and 700 and 2.5 (accept 2 or 3) OR for availables as 400, 400, 200 240, 2.4 (accept 2 or 3)

C1 ft (dep on at least M1) for identifying and stating which ingredient is insufficient for the recipe (with some supportive evidence)




	3


	(a)


	
	Points plotted at (1,8200) and (3.5,5000)


	1


	B1 for points accurately plotted ±1/2 square tolerance 



	
	(b)


	
	‘the older the car the lower the value’ ‘the greater the value the newer the car’


	1


	B1 for an acceptable relationship eg. ‘the older the car the lower the value’ (accept ‘negative correlation’ but not just ‘negative’)

	
	(c)
	
	5200 to 6600
	2
	M1 for a single line segment with negative gradient that could be used as a line of best fit or a vertical line from 2.5 or a point at (2.5,y) where y is from 5200 to 6600

A1 for given answer in the range 5200 − 6600




	4
	
	Bird

Frequency

Angles

Magpie

15

75

Thrush

10

50

Starling

20

100

Sparrow

27

135

Angles 
[image: image35.wmf]15
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[image: image36.wmf]10

360

72

´

, 
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	Correct pie chart
	3
	M1 for any one of  
[image: image39.wmf]15

360

'72'

´

, 
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360
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´

, 
[image: image41.wmf]20
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´

, 
[image: image42.wmf]27
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´

 oe

('72' must clearly come from adding frequencies)

A1 for 75 seen from correct working or
50 seen or 100 seen or 135 seen or 

one sector of angle 50o or 100o or 135o labelled correctly with bird’s name or 

all sectors correctly drawn 

A1 for  correct pie chart fully labelled with birds' names




	5
	
	2800 ÷ (13 + 12 + 10) = 80p / share

80 × 12 = 960

960 
[image: image43.wmf]3
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´


	6.40
	4
	M1 for 2800 ÷ (13 + 12 + 10) (=80) or 28 ÷ (13 + 12 + 10) (=0.8) or 80 or 0.8 or 10.4(0) or 1040 or 8 or 800 or 
[image: image44.wmf]35

13

 or 
[image: image45.wmf]35

12

  or 
[image: image46.wmf]35
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 oe seen 

M1 for ‘80’ × 12(=960) or‘0.80’ × 12(=9.6(0)) or 
[image: image47.wmf]35

12

×2800 or 
[image: image48.wmf]35
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M1 (indept) for  
[image: image49.wmf]3
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A1 for £6.40 or 640 pence [accept 6.4]




	6
	
	
	19
	4
	M1 for 130 − 96 (=34)

M1 for 73 − 55 (=18)

M1 for '34' − 9 − '18' + 12

A1 cao


	7*
	(a)
	
	2.5
	2
	M1 for 15 ÷ 6 oe

A1 for 2.5 or [image: image51.png]





	
	*(b)
	
	Yes + evidence
	2
	M1 for a correct method to change 15 miles into kilometres

C1(dep M1) for 24 km and statement with correct conclusion

[SC: B1 for “Yes” oe  and 24 km shown if M0 scored] 

or

M1 for a correct method to change 20 kilometres into miles

C1(dep M1) for 12.5 miles and statement with correct conclusion

[SC: B1 for “Yes” oe  and 12.5 miles shown if M0 scored]




	8
	
	
	10752
	4
	M1 for splitting the pentagon (or show the recognition of the “absent” triangle) and using a correct method to find the area of one shape

M1 for a complete and correct method to find the total area

M1 (dep on at least one prev M1) for multiplying their total area by 2.56 (where total area is a calculation involving at least two areas)

A1 cao




	9
	
	
	115
	4
	M1 for 360 − 4 × 25 (=260)

M1 (dep) for '260'÷4 (=65)

M1 for 180 − '65' or (360 −2× '65') ÷ 2

A1 for 115 with working




	10
	(a)
	
	p6
	1
	B1 cao



	
	(b)
	
	t5
	1
	B1 cao



	
	(c)
	
	6
	1
	B1 cao 



	
	(d)
	
	4
	1
	B1 cao


	11


	
	x = 4 gives 40

x = 5 gives 95

x = 4.1 gives 44.(321)

x = 4.2 gives 48.(888)

x = 4.3 gives 53.(707)

x = 4.4 gives 58.(784)

x = 4.5 gives 64.(125)

x = 4.6 gives 69.(736)

x = 4.7 gives 75.(623)

x = 4.8 gives 81.(792)

x = 4.9 gives 88.(249)

x = 4.61 gives 70.3(12..)

x = 4.62 gives 70.8(91..)

x = 4.63 gives 71.4(72..)

x = 4.64 gives 72.0(57..)

x = 4.65 gives 72.6(44..)

	4.6
	4
	B2 for a trial 4.6 ≤ x ≤ 4.7 evaluated

(B1 for a trial 4 ≤ x ≤ 5 evaluated)

B1 for a different trial 4.6 < x ≤ 4.65 evaluated

B1 (dep on at least one previous B1) for 4.6

Accept trials correct to the nearest whole number (rounded or truncated) if the value of x is to 1 dp but correct to 1dp (rounded or truncated) if the value of x is to 2 dp.

(Accept 72 for x = 4.64)




	12
	(a)
	
	−2, −1, 0, 1,
	2
	B2 for all 4 correct values; ignore repeats, any order

(B1 for 3 correct (and no incorrect values) eg. −2, −1, 0 or

one additional value eg. −3, −2, −1, 0, 1)



	
	(b)
	
	p>6
	2
	M1 for clear intention to add 7 to both sides or 3p > 11 + 7 or 

clear intention to divide all 3 terms by 3 as a first step

or 
3p > 18 or 3p = 18 or 3p < 18 or [image: image53.png]



A1 for p > 6 as final answer




	13
	
	Volume = 
[image: image54.wmf]512
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[image: image55.wmf]512
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	2970
	3
	M1    
[image: image56.wmf]512

15

2

´

´

 (=450)

M1   (dep on 1st M1) 
[image: image57.wmf]'450'6.6

´


A1     cao


[image: image58.emf]
	15
	(a)
	(34 + 46 + 28) ÷ 3

(46 + 28 + 40) ÷ 3
	36

38
	2
	M1 for either (34 + 46 + 28) ÷ 3 or (46 + 28 + 40) ÷ 3 (condone missing brackets) or 

one of 36 or 38 in correct position on answer lines

A1 cao



	
	(b)
	
	increasing 
	1
	B1 for upwards or increasing oe or ft from part (a)




	16
	
	cos x = 
[image: image59.wmf]6
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x = cos–1 
[image: image60.wmf]6

.

9

4

.

6

=
	48.2
	3
	M1 for cos x = 
[image: image61.wmf]6

.

9

4

.

6

or cos x = 0.66(6...) or cos x = 0.67

M1 for cos–1
[image: image62.wmf]6

.

9

4

.

6

or cos–1 0.66(6...) or cos–1 0.67

A1 for 48.1 – 48.2




	17
	
	6200 × 1.0253 =


	6676.72
	3
	M2 for 6200 × 1.0253 (= 6676.72...) 
(M1 for 6200 × 1.025n, n ≠ 3)
A1 for 6676.72, accept 6676.71 or 6676.73



[image: image63.emf]
[image: image64.emf]
[image: image65.emf]
	21
	
	4 ÷ 10 = 0.4

8 ÷ 5 = 1.6 

24 ÷ 5 = 4.8

16 ÷ 10 = 1.6

5 ÷ 20 = 0.25


	Bars at, for example, 0.8cm, 3.2cm, 9.6cm,

3.2 cm and 0.5 cm in height 
	3
	B3 for fully correct histogram

(B2 for 4 correct blocks

B1 for 3 correct blocks)

(see overlay)

(If B0, SC B1 for correct key, eg 1cm² = 2.5(students) or frequency ÷ class interval for at least 3 frequencies

NB apply the same mark-scheme if a different frequency density is used 




[image: image66.emf]
	23
	(a)(i)
	Explanation : Each member of the population has an equal chance of selection


	Each member of the population has an equal chance of selection


	2
	B1 for explanation

	
	(ii)
	Description : Eg. number each student and use random select on a calculator


	Valid method
	
	B1 for an acceptable description

	
	(b)
	239+257+248+190+206=1140


[image: image67.wmf]1140

239

×100
	21
	2
	M1 for
[image: image68.wmf]'

1140

'

239

× 100 oe or 20.96…
A1 cao




	24


	
	Height h m

Freq

FD

0 < h ≤ 2

7

3.5

2 < h ≤ 4

14

7

4 < h ≤ 8

18

4.5

8 < h ≤ 16

24

3

16 < h ≤ 20

10

2.5


	3
	3
	B3    fully correct histogram with horizontal axis correctly scaled 

(B2 for 4 correct blocks or 5 correct blocks with incorrect or no scale )

(B1 for 2 correct blocks of different widths or any 3 correct blocks)

SC : B1 for key, eg. 1 cm2 = 2 (trees) or correct values shown for (freq ÷ class interval) for at least 3 frequencies (3.5, 7, 4.5, 3, 2.5)




	25
	
	642.5 × 397.5
	255000
	3
	B1 for 642.5 or 647.5 or 397.5 or 402.5 seen

M1 for lLB × wLB where 

642.5 ≤ lLB < 645 and 397.5 ≤ wLB < 400

A1 for 255393.75 or 255 000 coming from 255393.75 or from correct method




	26
	(a)
	
	b – a
	1
	B1 for b – a   or   –a + b


	
	(b)
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= 
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3

× (b – a) 


[image: image72.wmf]OP

= a + 
[image: image73.wmf]4

3
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[image: image74.wmf]4

1

(a + 3b)
	3
	B1 for 
[image: image75.wmf]4

3

× ‘(b – a)’

M1 for 
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        or  a ± 
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A1 for 
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	Session
YYMM
	Question
	Mean score
	Max score
	Mean percentage
	ALL
	A*
	A
	%A
	B
	C
	%C
	D
	E

	1111
	Q01
	2.21
	3
	74
	2.21
	2.97
	2.90
	96.67
	2.72
	2.23
	74.33
	1.62
	1.21

	1306
	Q02
	2.81
	4
	70
	2.81
	3.77
	3.59
	89.75
	3.31
	2.76
	69.00
	1.75
	0.61

	1306
	Q03
	3.53
	4
	88
	3.53
	3.89
	3.81
	95.25
	3.73
	3.56
	89.00
	3.18
	2.49

	1211
	Q04
	1.77
	3
	59
	1.77
	2.94
	2.79
	93.00
	2.35
	1.68
	56.00
	1.11
	0.80

	1011
	Q05
	3.25
	5
	65
	3.25
	4.82
	4.35
	87.00
	3.71
	2.92
	58.40
	2.09
	1.38

	1311
	Q06
	2.55
	4
	75
	2.55
	3.82
	3.51
	87.75
	3.07
	2.43
	60.75
	1.61
	0.76

	1303
	Q07
	3.17
	4
	79
	3.17
	3.89
	3.78
	94.50
	3.60
	3.22
	80.50
	2.51
	1.49

	1306
	Q08
	2.22
	4
	56
	2.22
	3.80
	3.54
	88.50
	3.06
	1.86
	46.50
	0.55
	0.09

	1311
	Q09
	2.55
	4
	92
	2.55
	3.91
	3.71
	92.75
	3.39
	2.45
	61.25
	1.14
	0.35

	1406
	Q10
	2.87
	4
	72
	2.87
	3.86
	3.61
	90.25
	3.25
	2.69
	67.25
	1.78
	0.77

	1206
	Q11
	2.83
	4
	71
	2.83
	3.80
	3.57
	89.25
	3.33
	2.71
	67.75
	1.16
	0.17

	1303
	Q12
	2.46
	4
	62
	2.46
	3.95
	3.78
	94.50
	3.27
	2.31
	57.75
	1.32
	0.50

	1211
	Q13
	0.93
	3
	31
	0.93
	2.75
	2.37
	79.00
	1.67
	0.65
	21.67
	0.14
	0.03

	1006
	Q14
	2.26
	4
	57
	2.26
	3.88
	3.33
	83.25
	2.27
	1.29
	32.25
	0.59
	0.24

	1111
	Q15
	1.15
	3
	38
	1.15
	2.76
	2.45
	81.67
	1.78
	0.84
	28.00
	0.32
	0.17

	1206
	Q16
	1.21
	3
	40
	1.21
	2.89
	2.42
	80.67
	1.51
	0.51
	17.00
	0.08
	0.02

	1206
	Q17
	1.61
	3
	54
	1.61
	2.89
	2.55
	85.00
	1.95
	1.13
	37.67
	0.47
	0.15

	911
	Q18
	1.99
	5
	40
	1.99
	4.72
	3.81
	76.20
	2.32
	1.16
	23.20
	0.47
	0.17

	911
	Q19
	1.93
	5
	39
	1.93
	4.85
	3.98
	79.60
	2.34
	0.96
	19.20
	0.30
	0.09

	911
	Q20
	1.32
	3
	44
	1.32
	2.72
	2.30
	76.67
	1.61
	0.84
	28.00
	0.47
	0.38

	1203
	Q21
	0.72
	3
	24
	0.72
	2.62
	1.81
	60.33
	0.85
	0.22
	7.33
	0.04
	0.02

	1006
	Q22
	4.70
	8
	59
	4.70
	7.21
	5.74
	71.75
	4.64
	3.72
	46.50
	2.60
	1.68

	1206
	Q23
	1.11
	4
	28
	1.11
	2.91
	2.12
	53.00
	1.17
	0.52
	13.00
	0.26
	0.15

	1211
	Q24
	0.54
	3
	18
	0.54
	2.65
	1.94
	64.67
	0.89
	0.21
	7.00
	0.04
	0.01

	1111
	Q25
	0.39
	3
	13
	0.39
	2.21
	1.31
	43.67
	0.52
	0.10
	3.33
	0.01
	0.00

	1206
	Q26
	0.73
	4
	18
	0.73
	3.16
	1.62
	40.50
	0.57
	0.12
	3.00
	0.02
	0.01

	 
	 
	52.81
	101
	52
	52.81
	93.64
	80.69
	79.89
	62.88
	43.09
	81.59
	25.63
	13.74
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